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S Essay Type Questions:
General Observations

adnnivers®
Most candidates were not familiar with some less popular concepts such as BYOD, cost-
centred and revenue-centred hotel departments, cultural commodification and
‘edutainment’ experience.

Candidates were recommended to read through the questions carefully so that they could
address the specific requirements of each question. For instance, in Q.4 (a) candidates
were expected to explain how a marine park can use the three levels of a product to
provide a quality ’edutainment’ experience.

Candidates were able to demonstrate a basic knowledge in some popular concepts such
as carrying capacity, services dimension as well as distribution channels. However, they
encountered difficulties when attempting questions that required them to apply the
concepts in given contexts.

Candidates should have managed their time better and observed the mark allocation of -
the question and determined the required length or coverage of the answers.
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“Paper 2 Essay Type Questions : Q1

Tourism destinations prefer to be a home port instead of a stop-over port for cruise tourism, since tourism
service suppliers may benefit less 1f the destination 1s simply a stop-over port.

(a)  Identify any@s of tourism servic@s it rated Model of Tourish. Give two

Xam
poIt,

2y of how each type of service supplier may benefit less if the destination is@stop-oveD
(8 marks

may be 1mpacted [dentify the e types of carrying capaciy. Give twoexamples ot how the local

(b)  Because of the large number of cruise rmiving at the same ?&Bca community
les

community | by each type from cruise tourism. (10 marks
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(€9 Essay Type Questions: Q1
General Performance
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Question Popularity ,
Performance in General
Number %

| (a) 61 Fair. About half of the candidates were able to
identify three or four types of tourism service
suppliers that may benefit less from a stop-over
port. However, many of them could only provide
one example for each type of service supplier and
their answers were not comprehensive.

(b) Good. More than half of the candidates were able
to identify the five types of carrying capacity and
provide relevant examples. Their answers
demonstrated an understanding of the relevant
concept.




Paper 2: Q2

Because of geographic and accessibility restrictions, the restaurant operations of an island resort hotel are
different from those 1n a hotel in a city.

() Resort hotel guests can have meals n either a casual dining or a fast food restaurant. From the

resort hotel’s perspective, identifycfour strengths of adopting casual dining in ter@b, and

<our sirengths of adopting fast food 1 terms of ServIce. (8 marks

(b)  The resort hotel has been hit by a typhoon, causing water purification and electricity supply

gystems to break down. Based on thEFe Keys to Food Sate®, explain with examples how the
Tood-handling procedures in restapraR could be affected, and propos@?omd

safety. (10 marks”




Essay Type Questions: Q2
General Performance

(b)

87

Satisfactory. More than half of the candidates were able
to provide a few strengths of casual dining and fast food
in terms of menu and services respectively.

Fair. About half of the candidates were able to explain
food handling procedures. Some weaker candidates gave
wrong explanations and failed to propose ways to ensure
food safety.
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= Paper 2: Q3

5. Acultural atiraction demonstrates the cultural traditions of an ethnic minority group, including ceremonies,
arts and crafts, architecture, and hfestyle. It 15 critictsed for beng overcrowded and over-commodified.

() Descrtbe how theour elements of cultural tradition could be@ 1n the atfractton, and
DIOOSE anydorWays fo mimimise the commodiTicaima of cultue, (6 marks

(b)  Overcrowding has led to long queveing times for visitors. Based on Parasuraman’s five service

dimensions, propose<WaLmethods under each dimemSiw for improving the gUELEIg amangement™

(0mrks




«“o Essay Type Questions: Q3
General Performance

3 (a) 50 Poor. More than half of the candidates did not
understand the meaning of ‘commodification’. Some of
them wrongly thought that offering free of charge
services i1s a way to minimise the commodification of
culture.

(b) Fair. About half of the candidates were able to define the
five service dimensions and propose some ways to
improve queueing arrangements; however, some
suggestions did not match the relevant service
dimensions.




-

«2 Paper 2: Q4

4, The success of a theme park depends on many factors, such as location, the ability to adapt and respond tc
market changes, and whether the ‘edutainment” experience 1s appealing to visitors,

() Explam with two examples how a rarine life themed attraction, | ong Kong, can
use each of theFhreelevels of a produete provide aQuality ‘edutainment” experience>The three
levels of a product are the core product (intangible benefits sought by visitors), the supporting

product (the tangible items provided) and the facilitating product (extra services provided),
(6 marks

(b) A large-scale theme park in a suburban area may bring great benefits to the development of the
suburb. Identify #e social-cultural and three environmental benefits_amd explain each benefil

with (12 marks 77




Essay Type Questions: Q4

General Performance

4 (a)

(b)

69

Poor. About half of the candidates identified the three levels of
product but most of them failed to discuss with reference to the
provision of an ‘edutainment’ experience in a marine park.

Satisfactory. More than half of the candidates were able to
identify some, though not all six, socio-cultural and three
environmental benefits. The explanations were often
incomplete.
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Paper 2: Q5

5. New technologies are changing the sales distribution channel, service provision
and work practices in the tourism and hospitality industry.

(a) Airlines are now developing a new distribution capability which facilitates

direct ' customers and service suppliers. Identify three
and three cons of airlines seiling tickets directly to customers.

(6 marks)

(b) Bring Your Own Device (BYOD) is an emerging self-service technology
trend in the hotel industry. Identify<three cost centred and three reve
centred departments or units in a hotel and @ how BYO%
benefit them. (12 marks)

y 4




Essay Type Questions: Q5

General Performance

(b)

34

Satisfactory. More than half of the candidates understood
the pros and cons of airlines selling tickets directly to
customers.

Poor. About half of the candidates failed to identify cost-
centred and revenue-centred hotel departments. They were
unfamiliar with the concept of Bring Your Own Device
(BYOD) as well as the two types of hotel departments
examined.
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((9 LEVEL 5 Paper 2 Q1
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S LEVEL 5 Paper 2 Q2
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S LEVEL 4 Paper 2 Q3

. FBa ki sB A

 Z e s XM A eI LBE A
(e GARSER S (& % 4 AR Shijahi«, ——
| o | #5
BA X Lunad. _ =g
| 2r A s -% Guob‘%ﬁ' 3| {b7T
19,43 ?ﬁu}_ﬁ a4 ) <2 i\it?-z'xé A2 Az EHT5
________ ﬂ ZQ// R B VA
o &3 r % 23,

g S | A7) &%.iﬂﬁ%featﬁbu_\/
ﬁk%@*ﬁ PIFT R 2, x T M *éri @4 J%%L
A& %wzk, % aezlzzutﬁ e

| ?gf\i{iﬁa\i‘uﬁlﬁ’/
FA R N4k V-5 AR F cRAX KD YR b HPE>
_____ £ & B SR Bk 55 (0 B2k BARL R BT T A 4 aA0 .

o




(é@ LEVEL 4 Paper 2 Q3
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(69 LEVEL 4 Paper 2 Q3
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